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Part A: Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. 

Then mark the correct choice on your answer sheet. 

1- He is a woman of ………… who has never abandoned his principles for the sake of 

making money. 
a) utility  b) intergrity c) treaty d) acrimony 

2- The loud sound of the radiator as it released steam became an increasingly annoying 

…………… . 
a) interval b) perception c) zenith d) distraction 

3- Jackson’s poor typing skills were a ………… to finding employment at the nearby office 

complex. 
a) hindrance b) supplement c) confirmation d) versatility 

4- The judge dismissed the extraneous evidence because it was not …………… to the trial. 

a) obedient b) treacherous c) pertinent d) vulnerable 
5- Because biology is such a ………… subject, it is subdivided into separate branches for 

convenience of study. 
a) deficient b) consistent c) broad d) mutual 

6- In addition, physicians may have difficulty in deciding that an illness can be ………. The 

job. Many industrial diseases mimic sickness from other causes. 
a) attributed to b) precluded from c) refrained from d) exposed to 

7- Mechanics was one of the most highly developed sciences ………… in  the Middle Ages. 

a) extracted b) persisted c) resolved  d) pursued 
8- In the absence of death from other causes, all members of a population may exist in their 

environment until the ………. of senescence, wich will cause a decline in the ability of 
individuals to survive. 

a) ratio  b) onset c) core d) output 
9- Before the invention and diffusion of writing, transiation was ……….. and oral; persons 

professionally specializing in such work were called interpreters. 
a) subsequent b) unilateral c) eventual d) instantaneous 

10- Public attitudes toward business regulation are somewhat ………….; most people resent 

intrusive government rules, yet they expect government to prevent businesses from 
defrauding or endangering them. 

a) cogent b) emotional c) ambiguous d) indifferent 

Part B: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3) or (4) best fits 

each space. Then mark the correct choice on your answer sheet. 



The veriety of successful dietary strategies (11) ………… by traditionally living populations 

provides an important perspective on the congoing debate about how high-protein, low-carbohydrate 
regimens such as the Atkins diet compare with (12) ………… underscore complex carbohydrates 

and fat restriction. The fact that both these schemes produce weight loss is not surprising, (13) 

………… both help people shed pounds through the same basic mechanism: (14) …………. Major 

sources of calories, when your create an enrgy deficit- that is, when you consume fewer calories (15) 

………. your body begins burning its fat stores and you lose weight. 

 

11- a) employed  b) are employed c) is employed d) then employed 

12- a) those that b) the ones they c) that which  d) they 

13- a) inf fact b) although c) likewise d) because 

14- a) limit b) limiting c) which limit d) with limiting 

15- a) are expended  b) that they are expended 

   c) than you expend  d) to expend 

Part C: Reading Comprehension 
Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4). 

Then mark it on your answer sheet. 
Passage 1: 

As the above discussion illustrates, it is impossible to advance far into the theory of aesthetic 
experience without encountering the specific problems posed by the experience of art. Whether 
or not we think of art as the central or defining example of the aesthetic object, there is no doubt 
that it provides the most distinctive illustration both of the elusive nature and the importance of 
aesthetic interest. With the increasing attention paid to art in a corrupted world where little else is 
commonly held to be spiritually significant, it is not surprising that the philosophy of art has 
increasingly begun to displace the philosophy of natural beauty from the central position 
accorded to the latter by the philosophers and critics of the 18th century. Nor is this shift in 

emphasis to be regretted; for the existence of art as a major human institution reminds us of the 
need for a theory that will attribute more to aesthetic experience than enjoyment and that will 
explain the profundity of the impressions that we receive from beauty-impressions that may 
provide both meaning and solace to those who experience them. It is thus worth reviewing some 
of the special problems in the philosophy of art that have most influenced contemporary 
aesthetics.  

16- The word "it" in line 3 refers to ---------.  

a) object  b) art  c) theory  d) experience  
17- The author states that it is not a matter of concern that ---------.  

a) we cannot advance far into the theory of aesthetic experience  
b) the philosophy of natural beauty is put aside by the philosophy of art  
c) we unwittingly regard art as the example of the aesthetic object  
d) the nature and the importance of aesthetic interest has not been adequately appreciated  



18- By the phrase "the latter" in line 7, the author means ---------.  

a) the philosophy of art  b) the increasing attention  
c) the central position  d) the philosophy of natural beauty  

19- The word "attribute" in line 9 is closest in meaning to ---------.  

a) subscribe  b) revert  c) assent  d) ascribe  
20- According to the passage, a theory of art is to ---------.  

a) account for the ways beauty impresses humans  
b) give more weight to the enjoyment aspect than to aesthetic experience  
c) aim at preventing corruption from contaminating art  
d) include meaning and solace as the departure point for the description of aesthetic beauty  

21- The passage will most probably continue with a discussion of ---------.  

a) human impressions of meaning and solace obtained from beauty  
b) what defines the building blocks of contemporary aesthetics  
c) different viewpoints toward the philosophy of art  
d) some complications involved in the philosophy of art  



Passage 2  

The various visual arts exist within a continuum that ranges from purely aesthetic purposes at 
one end to purely utilitarian purposes at the other. Such a polarity of purpose is reflected in the 
commonly used terms artist and artisan, the latter understood as one who gives considerable 
attention to the utilitarian. This should by no means be taken as a rigid scheme, however. Even 
within one form of art, motives may vary widely; thus a potter or a weaver may create a highly 
functional work that is at the same time beautiful-a salad bowl, for example, or a blanket-or may 
create works that have no purpose beyond being admired. In cultures such as Africa and 
Oceania, a definition of art that encompasses this continuum has existed for centuries. In the 
West, however, by the mid-18th century the development of academies for painting and 

sculpture established a sense that these media were "art" and therefore separate from more 
utilitarian media. This separation of art forms continued among art institutions until the late 20th 

century, when such rigid distinctions began to be questioned.  

22- The continuum referred to in line 1 has two ---------.  

a) ranges  b) visual arts  c) purposes  d) ends  
23- The sentence, "This should by no means be taken as a rigid scheme, however," (line 4) 

serves to -------.  
a) undermine the author's earlier position  
b) qualify an already stated proposition  
c) repudiate the distinction already made  
d) buttress the hyperbole in the thesis  

24- The author agrees that an artisan ---------.  

a) is devoid of any gift to produce anything of appreciable beauty  
b) should change his vocation to be able to produce work of aesthetic value  
c) is so mercenary that he or she will never be able to cater to the needs of those who 

appreciate art  
d) mainly strives to bring to life something with a utilitarian purpose or but may at times 

produce something receiving the acclaim of the men of art  
25- According to the passage, the distinction between the two types of media mentioned in 

the last five lines is now ---------.  
a) as valid as always   b) made more inflexible  
c) challenged   d) more reliable  

26- All of the following are used in the passage to develop the topic EXCEPT ---------.  

a) process description   b) exemplification  
3) classification   d) comparison and contrast  

Passage 3:  

This article is concerned with crafts as creative hobbies, practiced primarily in the home with a 
minimum of specialized equipment. Crafts as so defined have certain functions. In a world that is 
becoming increasingly mechanized and standardized, they give people the opportunity to work 
with their hands and to express their individuality. Crafts also are often used in occupational 
therapy; for example, a patient might be taught a craft to develop weakened muscles or to help in 
gaining use of an artificial limb. An emotionally disturbed person might be taught a craft that 



would serve as an outlet for feelings. Craftwork also provides the disabled with purposeful 
activity that diverts attention from their handicaps.  

Many hobbyists find themselves going into business. A craftsperson who perhaps has at first 
sold craft items only to friends or at local bazaars may find that increased demand leads to a 
wider clientele and sales by mail order, at crafts fairs, or through a shop.  

There is a fine line of distinction between crafts produced by amateur hobbyists for their 
personal satisfaction and crafts that in the hands of gifted artisans approach or can be considered 
art forms, generally made with a view toward the use and enjoyment of others. The difference 
between hobby-produced crafts and formal decorative art objects lies in the degree of innovation 
in form and technique and in the intention of the artisan.  

27- What does paragraph 1 mainly discuss? 

a) Creative hobbies   b) Functions of crafts  
c) Craft-related equipment  d) Curative power of crafts  

28- Which of the following words is the word "outlet" (line 6) most related to?  

a) Expression  b) Domination  c) Diversion  d) Suppression  
29- Which of the following questions does the passage answer?  

a) Who prescribes craft production as a way to overcome mental disorders?  
b) Why are disabled people more adept in producing crafts?  
c) What is the basis for the distinction made in paragraph 3?  

d) To what extent is occupational therapy prevalent?  
30- Which of the following best reveals the author's attitude towards crafts, as they are 

defined in paragraph I?  
a) Favorable  b) Ironic  c) Critical  d) Amused 



  1392زبان تخصصي سراسري سال  پاسخنامه سوالات

  بخش اول: واژگان
دستورالعمل: از ميان گزينه هاي موجود، مناسب ترين گزينه را براي هر جمله انتخاب كنيد و پاسخ صحيح را در 

  پاسخنامه علامت بزنيد. 
  گزينه ب صحيح است. -1

) به معناي 1ت خود را زير پا نگذاشته است. گزينه (به معناي كمالات. او زن با كمالاتي است و هيچوقت به خاطر پول، اعتقادا
 ) به معناي تندي و شدت است. 4) به معناي پيمان و گزينه (3سودمندي، گزينه (

  .صحيح است دگزينه  -2
به معناي پرت شدن حواس. صداي بلند رادياتور، زماني كه بخار از آن بيرون مي آمد، به طور آزاردهنده اي حواس ما را پرت مي 

 ) به معناي اوج است. 3) به معناي ادراك و گزينه (2) به معناي فاصله زماني، گزينه (1كرد. گزينه (
  .صحيح است الفگزينه  -3

) به 2به معناي مانع. مهارت پايين جكسون در تايپ مانعي در پيدا كردن كار در مجموعه دفاتر اداري آن نزديكي بود. گزينه (
 ) به معناي تنوع است. 4عناي تصديق و گزينه () به م3معناي مكمل، گزينه (

  .صحيح است جگزينه  -4
) به معناي 2) به معناي مطيع، گزينه (1به معناي مربوط. قاضي شواهد فرعي را رد كرد چون به محاكمه مربوط نبودند. گزينه (

 ) به معناي آسيب پذير است. 4خيانتكار و گزينه (
  .صحيح است جگزينه  -5

ترده. از آنجا كه زيست شناسي شاخه بسيار گسترده اي است، براي سهولت مطالعه آن را به شاخه هاي مختلف به معناي گس
 ) به معناي دوطرفه است. 4) به معناي منسجم و گزينه (2) به معناي ناقص، گزينه (1تقسيم كرده اند. گزينه (

  .صحيح است الفگزينه  -6
ان ممكن است در تشخيص اين كه بيماري را مي توان به شغل نسبت داد، با مشكل روبرو به معناي نسبت دادن. علاوه بر آن، پزشك

) به 3) به معناي مانع شدن، گزينه (2شوند. بسياري بيماريهاي صنعتي از دلايل ديگري به غير از مريضي ناشي مي شوند. گزينه (
 ) به معناي در معرض قرار گرفتن است. 4معناي مانع شدن از و گزينه (

  .صحيح است دگزينه  -7
) به معناي خارج 1به معناي دنبال شدن. علم مكانيك يكي از پيشرفته ترين علومي بود كه در قرون وسطي دنبال مي شد. گزينه (

 ) به معناي تصميم گرفتن است. 3) به معناي اصرار كردن و گزينه (2شدن، گزينه (
  .صحيح است بگزينه  -8

غياب مرگ ناشي از ديگر علتها، تمام اعضاي يك جمعيت در محيط خود مي مانند تا زماني كه دوران به معناي شروع و آغاز. در 
) 3) به معناي نسبت، گزينه (1پيري شروع مي شود، كه به نوبه خود كاهش تواناييهاي فردي براي بقا را كاهش مي دهد. گزينه (

 ) به معناي نتيجه است. 4به معناي هسته و مركز و گزينه (
  .صحيح است دگزينه  -9



به معناي آني. تا پيش از اختراع و انتشار خط، ترجمه به صورت آني و شفاهي صورت مي گرفت. افراديي كه به طور تخصصي اين 
) 3) به معناي يك جانبه و گزينه (2) به معناي متعاقب، گزينه (1كار را انجام مي دادند، مترجم شفاهي ناميده مي شدند. گزينه (

 ناي احتمالي است. به مع



  .صحيح است جگزينه  -10
به معناي مبهم. نگرش عمومي به قوانين بازرگاني تقريبا مبهم است؛ بيشتر مردم از قوانين اجباري دولت متنفر هستند، اما در عين 

) به 2كننده، گزينه () به معناي متقاعد 1حال انتظار دارند دولت از كلاهبرداري و به خطر افتادن آنها جلوگيري كند. گزينه (
 ) به معناي بي تفاوت است. 4معناي احساسي و گزينه (

  : جاي خالي دوم بخش
دستورالعمل: متن زير را بخوانيد و بهترين گزينه را براي هرجاي خالي انتخاب كنيد. پاسخ صحيح را روي پاسخنامه 

  علامت بزنيد. 
  .صحيح است الفگزينه  -11

 جمله در حقيقت به اين شكل بوده است:  به معناي به كار گرفته شده.
employed by …  were whichThe variety of successful dietary strategies   

  صحيح است. الفگزينه  -12
 those  در اين عبارت بهregimens  .بر مي گردد و به دليل استفاده از ساختارهاي موازي در عبارت دوم جايگزين آن شده است 

  .صحيح است دگزينه  -13
مي تواند  4به معناي زيرا. قبل از كلمات گزينه هاي ديگر بايد نقطه ويرگول (؛) بياد و به خاطر ويرگول آمده در متن تنها گزينه 

 درست باشد. 
  .صحيح است بگزينه  -14

 به معناي محدود كردن
  .صحيح است جگزينه  -15

آغاز مي شود و دو جمله را  thanبه عبارتي نياز داريم كه با  when you consume fewer caloriesبه دليل ساختار عبارت 
 با هم مقايسه مي كند. 

  معناي كامل متن به شرح زير است: 
تنوع استراتژيهاي موفق رژيمي كه به صورت سنتي توسط افراد به كار گرفته مي شوند، ديدگاه فكري مهمي را در بحثهاي هرروزه 

وتئين بالا و كربوهيدرات پايين، مانند رژيم اتكينز در مقايسه با رژيمهايي كه بر كربوهيدراتهاي پيچيده درباره رژيمهاي غذايي با پر
و محدوديت چربي تاكيد مي كنند، فراهم مي آورد. اين واقعيت كه هردو اين روشها منجر به كاهش وزن مي شوند، تعجب آور 

نيسم ساده وزن از دست مي دهند: محدود كردن منابع مهم كالري. هنگامي كه نيست، زيرا در هردو آنها مردم با استفاده از يك مكا
بدن شما  –به اين معني كه شما كالري كمتري نسبت به مصرف آن دريافت مي كنيد  –نقصاني در ميزان انرژي ايجاد مي شود 

  شروع به سوزاندن ذخيره چربي مي كند و در نتيجه وزن كم مي كنيد. 
  ير را به دقت بخوانيد و بهترين گزينه ممكن را انتخاب كنيد و در پاسخنامه علامت بزنيد. : متنهاي زسوم بخش
  1متن 

همانطور كه در بالا مطرح شد، پيش رفتن در تئوري تجربه زيبايي شناسي بدون مواجهه با مشكلات خاص مربوط به تجربه هنر 
وع زيبايي شناسي نگاه كنيم يا خير، شكي نيست كه تصويري غير ممكن است. چه به هنر به عنوان مثال روشنگر و كليدي موض

متمايز از طبيعت گريزان و اهميت ميل زيبايي شناسي فراهم مي آورد. با توجه روزافزوني كه در اين دنياي فاسد به هنر پرداخته 
و منتقدان قرن هجدهم،  مي شود، جايي كه هيچ چيز از نظر معنوي مهم نيست، تعجب آور نيست كه فلسفه هنر، با فيلسوفان

اخيرا فلسفه زيبايي طبيعي را از جايگاه كليدي آن پايين آورده اند. همچنين نبايد به خاطر اين تغيير در نگرش تاسف خورد؛ به 
 اين خاطر كه وجود هنر به عنوان يك نهاد بشري بزرگ ما را به ياد نياز به يك تئوري مي اندازد كه بيش از لذت و خوشي به تجربه

تاثراتي كه هركس تجربه  –زيبايي شناسي مرتبط باشد و عمق تاثراتي را كه در نتيجه زيبايي بر ما وارد مي شود را تبيين كند 



كرده است معنا دارد و مايه تسلي است. به همين خاطر مرور برخي مشكلات خاص در فلسفه هنر كه بر زيبايي شناسي معاصر 
  مند خواهد بود. بيشترين تاثير را داشته اند، ارزش

  .صحيح استد گزينه  -16
it ) در اين جمله به تجربهexperience .اشاره مي كند ( 

  .صحيح استگزينه ج  -17
 نويسنده بيان مي كند كه مهم نيست كه ما بدون اطلاع هنر را به عنوان مثالي از ابژه زيبايي شناسانه در نظر مي گيريم. 

  .صحيح است بگزينه  -18
 اشاره مي كند.» توجه روزافزون«اشاره به دومين مورد در حقيقت به  نويسنده با

  .صحيح است دگزينه  -19
 attribute  در لغت به معناي نسبت دادن است و از اين نظر با كلمهascribe ) تصويب كردن، 1هم معناست. معناي گزينه (

 ) موافقت كردن است. 3) برگشت دادن و گزينه (2گزينه (
  .صحيح است لفاگزينه  -20

نيز همين  1در متن به اين نكته اشاره شده كه تئوري هنر تبيين كننده عمق دريافتهايي است كه از زيبايي داريم. از گزينه 
 برداشت مي شود.

  گزينه ج صحيح است. -21
 دنباله متن به احتمال زياد راجع به ديدگاههاي مختلف در مورد فسلفه هنر خواهد بود. 

  2متن 
هاي بصري مختلف با اهداف كاملا زيبايي شناسانه در يك طرف تا اهداف كاملا كاربردي در سوي ديگر گسترده است. طيف هنر

اين تضاد در هدف در واژه هاي معمول هنرمند و صنعتگر منعكس شده، كه صنعتگر بيشتر به معناي كسي است كه توجه ويژه اي 
هيچ شرايطي نبايد اين ترتيب به صورت مطلق در نظر گرفته شود. حتي در يك  به كاركرد كاربردي هنر دارد. با اين وجود، تحت

شكل از هنر، انگيزه ها مي توانند مختلف باشند: بنابراين يك سفالگر و يا يك بافنده ممكن است شكلي از هنر را خلق كنند كه 
الاد يا يك پتو، و يا ممكن است آثاري را خلق كارآيي زيادي دارند و در عين حال بسيار زيبا هم هستند، براي مثال يك كاسه س

كنند كه به جز برانگيختن تحسين ديگران هيچ هدف ديگري در پشت آن نهفته نباشد. در فرهنگهايي مانند آفريقا و اقيانويسه، 
ميلادي  18تعريفي از هنر كه شامل اين طيف مي شود، قرنهاي زيادي است كه وجود دارد. با اين وجود در غرب در نيمه قرن 

توسعه مراكز آموزشي براي نقاشي و مجسمه سازي اين احساس را به وجود آورد كه رسانه ها هنر بودند و از رسانه هاي كاركردي 
مجزا هستند. اين جدايي شكلهاي مختلف هنر در ميان موسسات هنري تا اواخر قرن بيستم ادامه داشت و در سالهاي آخر اين قرن 

  ل رفتند. اين تمايزات زير سوا
  گزينه د صحيح است. -22

 طيف هنرهاي تصويري دو انتها دارد، هنر با هدف زيبايي شناسي و هنر با هدف كاركردي 
  صحيح است. جگزينه  -23

repudiate  در لغت به معناي انكار كردن است. بعد از اين جمله هم در متن مثالهايي آمده كه نشان مي دهد هيچ چيز در اين
 ست.طيف مطلق ني

  صحيح است. دگزينه  -24
 به ترجمه متن مراجعه كنيد. در متن صريحا به اين نكته اشاره شده است.

  گزينه ج صحيح است. -25
 در خط آخر گفته شده كه تمايز ميان اين دو رسانه مورد سوال قرار گرفته است.  



  گزينه الف صحيح است. -26
 داشتند. در متن مثال، مقايسه و تضاد و طبقه بندي وجود 



  3متن 
اين مقاله به صنايع به عنوان سرگرمي هاي مبتكرانه مي پردازد كه در وهله اول در منزل با كمترين تجهيزات تخصصي صورت مي 
پذيرند. صنايعي كه اين گونه تعريف مي شوند، عملكردهاي خاص خود را دارند. در دنيايي كه شديدا مكانيزه و استاندارد شده، 

ند تا با دستهايشان كار كنند و فرديت خود را بيان كنند. صنايع همچنين اغلب در درمانهاي شغلي به كار گرفته مردم فرصت دار
مي شوند: براي مثال، براي بهبود عضلات ضعيف و يا كمك به معلولين براي به كار گيري عضلات مصنوعي به بيماران آموزش داده 

از نظر عاطفي دچار مشكل شده اند، حرفه اي آموزش داده مي شود تا مجراي خروجي  مي شود كه اشيايي را بسازند. به افرادي كه
براي احساساتشان باشد. صنعتگري همچنين براي افراد ناتوان فعاليتي هدفمند را فراهم مي آورد كه آنها را از توجه به معلوليت 

  خود باز مي دارد. 
دنياي تجارت مي شوند. يك صنعتگر كه در ابتدا ساخته هاي خود را به  بسياري از افرادي كه به دنبال سرگرمي هستند، وارد

دوستان يا در بازارهاي محلي به فروش مي رساند، ممكن است به خاطر افزايش تقاضا ساخته هاي خود را به مشتريان بيشتري، به 
  صورت فروش از طريق پست، در نمايشگاههاي صنايع يا از طريق فروشگاه عرضه كند. 

ز كوچكي ميان ساخته هايي كه براي سرگرمي و براي رضايت شخصي ساخته مي شوند و صنايعي كه به دست صنعتگران تماي
باتجربه به وجود مي آيند و مي توان آنها را به نوعي هنر دانست وجود دارد، كه در مورد دوم دست ساخته ها با نگرشي به سوي 

يان ساخته هاي با هدف سرگرمي و اشياء تزييني هنري در ميزان ابتكار در شكل استفاده و لذت ديگران ساخته مي شود. تفاوت م
  و تكنيك و نيت صنعتگر نهفته است.

  گزينه د صحيح است. -27
 پاراگراف اول به كاركردهاي درماني صنايع اشاره مي كند. 

  صحيح است. الفگزينه  -28
outlet اسات بيشترين ارتباط را دارد. به معناي راه خروج است و از اين نظر با بيان احس 

 گزينه ب صحيح است.  -29
  صحيح است. الفگزينه  -30

favorable .در لغت به معناي مطلوب است و از كل متن چنين برمي آيد كه ديدگاه نويسنده نسبت به صنايع مطلوب است  

 

  

 

 


